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3k A &3F F Ak A £3F T £%F
E S 5| §riE & 100 | 5% & 100
FRAH 100 | 3% 3ds 100 | A48 E 100
&£ LK 100 | /& % % 100 | &% &% 100
= 1 100 | £p p& 100 | & & = 100
B AR g 100 | &£ p 100 | f§ » 4 200
oo~ 200 | s 4o 200 | 5% & 200
¥z 200 | & w # 200 | £ iR 3 200
HrE 200 | #8397 200 | ¥ &% 200
R E 200 | @ *:Jéj 200 | E4 W 200
HE LT 200 | tki= & 200 | +k 2 = 200
g 200 | e % 200 | &~ % 200
&R E 200 | 232 200 | £ & % 200
L 200 | piip = 200 | & & % 200
RE P RS 200 | =% 200 | 32 200
B 200 = F 200 | 3 2 200
R 200 | 7% R % 200 | % &8 200
;‘L%p’%é] 300 | & &= 300 | %42 B 300
By EY 300 | priEpr 300 | £%+8 300
& v 300 | & % iz 300 | % B2 4% 300
;i %% 300 | ¥ K 300 = £ % 300
tRaE 300 | 1w 300 | & 'm% 300
A £ & 300 # % 2% 300 fééa:fiélj 300
PRz EB 300 | ¥FHE 300 | & LrE 400
RE AT ORITE AR OB 400 | & L % 400 | #Pm X 500
A 500 | #l4- % 500 | 5& 2545 500
%R A 500 | 2 px 2 500 | #Oi= 500
BOFPHREF AP 500 | ¥ O 500 | #OK’ 500
HO= 500 | #n 4y 5k 500 | & & = 500
BZHE PR 500 | 15 3 500 | = % 500
3% 4 500 | % % i 500 | % % & 500
% & 500 | = % i 500 | = % i 500
¥ & 500 | = % i+ 500 | = % i+ 500
3% 4 500 | 4 EE4r 500 | & % 500
EQES 4 500 | 5= % 500 | 5 & 4 500
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Ak A &% | FaxA &% I Ax A &%
R 500 | ¥ = ¥ 500 | O # 500
2 OF 500 | = Op* 500 | = O 500
#£ - X 500 | 7 i% % 500 | 3578 2 500
%7 % 500 | 2 % 2% 500 | 2.5 B 500
RFEm 500 | 2 B4 500 | Ak145 500
[ e 500 | ¥ ®H 500 | & B & 500
TR FHEE A AL FEA 500 | =44 » 500 | sk ph3z &% 500
LA 500 | & &l 500 | g =+ 500
e 500 | Mg % 500 | 2 =4 500
HE 2 2R 3R > R 500 | % Ay 500 | p X2 500
T A 500 | & ek 500 | 3 5+ 500
+ % & Raphael 500 | & = & 500 | ¥ 3 500
% % & Michael 500 | ERH# 500 | % & F° 500
L B ¥ 500 | = & 600 | & &= 600
I % 600 | &< ¥ 600 | ¥ P-# 600
Ay 600 | i 4t 600 | 4 600
Rk 4% 600 | tk#= 2 600 | +ki4e 600
o4 600 | #+3 pr 600 | » % 600
»RE 600 | R & £ 600 | & 7 600
FIRA IR w0 A Bkl A4 600 | > L% < g 615 | Bz 29 % 615
3 e
BaE® B LX OB 615|224 x % 615 | ~ 5 X 3 615
R T 4 615 | #% % sk 700 | &I AF 1,000
e 2R OBE R IEL Rk 1,000 | 22 F 1,000 | &+ 1,000
FHEAB 1,000 | 3 &+ 1,000 | %" 4 1,000
T Lo 1,000 | £ L % 1,000 | % £<if 1,000
T iR 1,000 | & 48= 1,000 | 2 B & 1,000
iy 48 1,000 | & $1%e 1,000 | #O& #+O# 1,000
#O#m #O8 1,000 | 4> ¥ 1,000 | =% & 1,000
Mg 5 1,000 | mpe= 1,000 | 452 1,000
2 :gﬂr 1,000 | = 4% 1,000 | 2 & % 1,000
3 Ep 1,000 | 8 & 1,000 -;*u%e?'% 1,000
Iipk AEFE fiRa L2 et 1,000 | 5= & # 1,000 | £EP4g #°% K 1,000
TR ERe T oiE A
> oRR D AR 1,000 | 27 & 1,000 | > Iéj#— ph i 9 1,000
B —‘&:T(’J&E’ 1,000 | £ 3% 1,000 | 3=+ 1,000
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F A £ | FHEA | & 45 4 £ 1f
Stk R 1,000 | fom = 1,000 &% % 1,000
S ST A 1,000 | O 1000 |36t £ | 1,000
% 2 1,000 | et 1,000 | gFe i 1,000
R 1,000 | i% & % 1,000 | %47 1,000
Eh® 1,000 | £ %% 1,000 | %14 % % 1,000
R 1,000 | 55L& 1,000 | 5%% e 1,000
S % 1,000 374 1,000 | = % (e ) 1,000
T gy 1,000 | %7 1,000 | 5 1,000
Y 1,000 | %45 % % 1,000 | pr= 1,000
1 1R 1,000 | 145 1,000 | 4/ 4 1,000
P52 mys 1,000 | r & # 1,000 | a gt 1,000
RREEF AL ES 1,000 | + % % 1,000 | 45 1,000
7 % 1,000 | % if e 1,000 | < £.A 1,000
<opq 1,000 | = 4 1,000 | #%3 = | 1,000
E 7 1,000 | g 1,000 | FER 1,000
FEB 1,000 | %) #l 1,000 | % /&, 1,000
3 1,000 | p g 1,000 | g% 1,000
M g 1,000 | B4 % 1,000 | % 4% 1,001
g 1,010 | rz LO0| 294 =% 1,020
1 ¥ 1,060 | H#nz g 1,200 | Hhag st 1,200
W] ATk wAW w4 1,200 | %< 1,200 | i35 1,200
MEF FhaE FITS FTS FTR 1,400 | 3 #cqr 1,500 | %4 i ¥ 1,500
MEF FhaR FRa HRS HRe 1,400 | & 7 % 1,500 | 54 F 2,000
LEE BEM 2k 1,500 % &% 1,520 | ## 7 1,680
1k 1% &Y 2RE 1,500 | & % % 1,600 | @M% 2 4% | 2000
ST T O e I Y Y 2,000 | the 2,000 | Fm% § 24| 2 000
FHA W mE
#0% %0% #0% #OF 2,000 | & & = 2,000 |3 %% SaE | 2,000
AW B Y E 2,000 | 2% 2,000 | ¥ 242 2,000
HER 2,000 | 4 £ 2,000 | /% 4 & 2,000
fok 3 2,000 | % # 7 2,000 | L% 2,000
EEy 2,000 | % % # 2,000 | % s 2,000
M % 2,000 | # &5 2,000 | ¢+ 2,000
6819 5 2,000 | #3514 2,000 | 2 &t 2,000
% 2,000 | 5 Fesd 2000 2% 252 | 2 000
g Tk 2,000 | 2% 2,000 | % L3k 2,000
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i A B3 | WA | & | WA &7
MEE BRI MY Mg 2,000 | 384« e 2,000 | HRA1 % % Rk 2,000
By 2,000 | ki 2,000 | £+ &bk 2,000
R 2,000 |t 257 2,000 | #F 4 ¥ % 2, 000
P2 2,000 | Fh k3 2,000 | # 2 % 2, 500
S AEE FPOF flies sim 9,500 | /L7 Bt 2,500 | srcE 3, 000
Fj’;
R AP 2,600 | % pap 3,000 | #t2 3, 000
i 3,000 | &5 3,000 | thiz® 3,000
& 7% 3,000 | %% & 3,000 | & i 3, 000
3 R 3,000 | 2122 3,000 | % ¥4 3, 000
Bz 3,000 | % & 22 3,000 | 3 4 7 3,000
s 3,300 | & & % 3,500 | B s 3, 600
Tfe 2HR T ek 1Lp 4,000 | ®z 3,670 | t 7= 4, 000
TES 4,000 | #R4a 4,000 | 2 7 4 5, 000
Tk TS 5,000 | % s 5 5,000 | R™g~ A 5, 000
Mt HET HEF HPE HLm 5,000 | #6 &, ¢ 5,000 | % = 2z 5, 000
o 5 5,000 | Bee s 5,000 | F e 2 5, 000
¥ R E 5,000 | ¥ #51% 5,000 | & 5, 000
et § ek 5,000 | z &% 5,000 | 7 ¥ 5, 500
S 3% 6,000 | = i 6, 000 | % ;2.3 6, 000
5 B 6,000 | * % 9 6,000 | 1§ £ # 6, 000
64, i 6, 000 | §r &+ 6,000 | th1 & 10, 000
P2 10,000 | =+ g% | 10,000 % 10, 000
B 10, 000 | 35 Z £ 10, 000 | 5 5| 10, 000
E 10,000 | # #« 10, 000 | & # 2 10, 000
¥R 10,000 | % 2 10, 000 | M § 12, 000
P 12,000 | "5 & %3 20, 000 | 5 581 20, 000
$ 4 20, 000 | #E4 = 20,000 | 372 & 20, 000
MATTS A 20,000 | £ {137 7 | 20,000 | s M2 E | 20,000
2 g 10 20,000 | 4 4 20, 000 | 2744 2 20, 000
3 0% 20,000 | 2 7 3 20,000 | £ i3 30, 000
AdEpERT ANA 30,000 | &% 4 30, 000 | ¥104 50, 000
L0 50, 000 | /O 50, 000 | +Ot 70, 000
2 O% % O 85,000 | 209 180,000 | = O% 300, 000




